Physics 101                                       Spring 1996


QUIZ 1


PROBLEM 1 (5 pts)


A car goes in a straight line with the speed 70 km/h for 1 hour, then makes a U-turn and goes exactly back (again in a straight line) with the speed 100 km/h for 23 min.


Find:


a) The average speed of the car


b)The average velocity of the car


Express the results in m/s.


Recommendation: Convert speeds (velocities) into m/s and time intervals into s at the beginning.


PROBLEM 2 (8 pts)


A nice car can stop in a distance of 60 m from a speed of 100 km/h. What is its acceleration (m/s2)?


Find: What is its acceleration (m/s2)?


